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o F Iy oA kB E 0 b A& W e/l 0. 1LF < 0.01 < 0.01
v 7 N 1t a l  mg/l 1T <0.1 <01
<l % b b & | mg/l 1LF <01 < 0.1
#h K [0 ks D b & wl mg/l 0. 1LF < 0.01 < 0.01
N fill 4 = L & & Wl mg/l 0. 5LF < 0.05 < 0.05
% Kk O = o 4 A& W m/l 0. 1LF < 0.01 < 0.01
KK O T v F LK Z DK S S W mg/l 0. 005LLF < 0.0005 < 0. 0005
7ooor X v k| ok & | me/l BHE AWk < 0.0005 < 0. 0005
) Bt v 7 = = N mg/l 0. 003LLF < 0.001 < 0.001
- - S S LA B! 0. 3LTF < 0.001 < 0.001
F + % sz w o om = F L | ml 0. 1UF < 0.001 < 0.001
4 z o = A 4 v me/1 0. 2LF < 0.02 < 0.02
m iy (7 R F#| mes1 0. 02UF < 0.002 < 0.002
1 2 — v s 8o oam = x | mg 0. 04LF < 0.004 < 0. 004
1 1 — ¥ 7 v v = F L v m 18T < 0.02 < 0.02
YA -1, 2 —Y 7 unxF L oml 0. 4LF < 0.04 < 0.04
1 1, 1 — VYU 27 anaxx ] ngl 3L < 0.001 < 0.001
1 1, 2 — +F VU 2z a=xz ] ngl 0. 06LF < 0.006 < 0.006
1 3 — Y 7 v onmn 7 o 2 mg/l 0. 02UF < 0.002 < 0.002
¥ v 7 Al mg/1 0. 06LF < 0.006 < 0. 006
v < v v me/1 0. 03LTF < 0.003 < 0.003
F & ~ v il V2 7| mg/l 0. 2LF < 0.02 < 0.02
~ N + v me/1 0. 1LUF < 0.01 < 0.01
vt Ly v kK O o {t & Y| mg/l 0. 1UF < 0.01 < 0.01
1 4 - v A x ¥ v mgl 0. 5UF < 0.05 < 0.05
7 E3 7 — Jv Hl mg/l 5L F <0.1 <01
kol )3 [0 z D (4 & M| mg/l 3T <01 < 0.1
o kO o {4 Bl myl 2L 0.06 0.03
gk O x o b & W (W% o) mg/1 10LLF < 1.0 < 1.0
~ v AR OYEOMARAEY (WMME) mg/1 10T <0.5 < 0.5
7 a A kU F o A & w mgl 2LF <01 < 0.1
H o F Ok O o & & W meg/l 8LLF < 0.5 <0.5
E 09 % Ok W 2 o & W me/l 10UF < 0.10 < 0.10




